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03 Al =20HY| 1,440 1,440
OJI=2&d838 =4 204l
200,000,000 *0.72/100 1,440
ot & g 104,264 A248,720
& 7,000
Al 97,264
X tNE= 27,680 AN9,720




SN =METD

M X oF U B2
ol OlUX otEZE (el @g
_ _ _ Muo
SA BB H(BH) - MBAY - B2 O A+ 24 il b o HRs2
= 7,000
Al 20,680
CIEPRIFSET 4,380 12,300 AT,920
201 Yot | 300 300 0
01 AtRZelt] 300 300 0
O1 ger=gH| 300
DASEIAAAR MHE  1,5002%2008 300
202 OiH| 3,600 4,800 A1,200
01 =Uj0i ] 3,600 4,800 A1,200
OAHZ= 7011l 300,002 *122 3,600
301 YErEA3 480 2,400 A1,920
12 JIEtE A2 480 2,400 A1,920
OMSRHNY HBIBE 243
20,0008 *101%243] 480
MOl LPIA A& A 13,300 13,300 0
= 4,000
Al 9,300
401 AEHILS T 13,300 13,300 0
= 4,000
Al 9,300
01 Al&db| 13,300 13,300 0
OMEl LPIFAAIAL JHEAZ  13,300,0008 *14] 13,300
= 4,000
Al 9,300
HASE L2FINE W22 10,000 10,000 0
= 3,000
Al 7,000
403 XX SHRIS XH2 0/ & 10,000 10,000 0
= 3,000
Al 7,000
02 2IIZSOICHEICHE AL B 10,000 10,000 0
OMASE L2FIINE M=
10,000,0002 *14] 10,000
= 3,000
Al 7,000
WX E8X0I 76,584 315,564 239,000
WX RoF =& 76,584 55,584 21,000
201 Ygreg| 46,584 49,584 A3,000
01 AtRZ eIt 1,200 4,200 A3,000
03 2g+y 1,200
DUUR Hor DRBAR(SBUI)
300,000 *43] 1,200
02 ZB2Y| 45,384 45,384 0




SN =METD

ZFE: UX ¢t 2 2
@2l OUX 2 2H0I8 (ctel: &
_ _ _ Muo
SA - EE L SR(E) - MRAY - HAS 0l &k o4 e HlnE2
O1 3322 % HA 45,384
DA A, SHS, B A ESCOALY & &2 (2604
L) 3,782,000& x123] 45,384
307 212t01& 5,000 5,000 0
04 BIZFSALE X 5,000 5,000 0
O X 2o 2H e 5,000, 000& 14 5,000
402 It X =01M 15,000 0 15,000
02 CIZ2+CHEM At I 15,000 0 15,000
OWAP(MASSHUXESMHA)AMY HIEXI& S
2 DeHEAN 15,000,000& * 14! 15,000
405 KH&HFE SHI 10,000 0 10,000
01 T =SS HSHI 10,000 0 10,000
OJldd HAED (WAPALY) 10,000,000 14! 10,000
OIHXIOHE R B2 1,257,246 0 1,257,246
= 579,700
Al 677,546
ATHMNHX 22 1,217,246 0 1,217,246
= 579,700
Al 637,546
AMMEHEHX 2= 1,217,246 0 1,217,246
= 579,700
Al 637,546
202 (4Hl 3,600 0 3,600
01 =LA bl 3,600 0 3,600
OAE =& I 300,000& «12& 3,600
401 AlEHIZ 2 UHYI 1,183,646 0 1,183,646
= 579,700
Al 603,946
01 Al&H| 1,179,400 0 1,179,400
OdFota=Held L dSy 48X
226,000,000 * 14 226,000
= 113,000
Al 113,000
OANQZSF=XE B LE L &
718,000,000 * 14! 718,000
= 359,000
Al 359,000
OFFANSS=X2 BHEZFEHELH £X
215,400,000& 14! 215,400
= 107,700
Al 107,700
OHYE EHLIEEZAE FAE =]
2,000,000 *107H & 20,000
03 AIE=20bI 4,246 0 4,246




!

SodRNE € 25

CATHMMUHK 2= (el &)
SN EE - ER(EN) - NRAY - BaS sl Bl HlRE2
0fl &b
OAE 20l 1,179,400,000& *0.36/100 4,246
402 QI XHE01HE 30,000 30,000
02 SIZ2+CHEM At I 30,000 30,000
OHZ=8 25 X2 2,000,000& =57t 10,000
OHg ==& 251X 4,000, 000& *5Jt = 20,000
A THAE Ol X O & 40,000 40,000
ALTH A8 Ol LA KT O & 40,000 40,000
307 S12t01& 40,000 40,000
05 2IRIRAES 40,000 40,000
O EF0UXDl=de &=
40,000,000& *14! 40,000
dH WS 163,690 153,690
AEA 0l 43t AHY 163,690 153,690
AA&EH Ol 243t 35,490 35,490
201 LetEIH| 1,890 1,890
01 AtER22/Hl 1,890 1,890
03 2&+¢ 1,890
DANMHOIEE =g
70,0003 9021 +33] 1,890
202 O4Hl 3,600 3,600
01 =Wl 3,600 3,600
OXEA 0I8 &£ 300,000& «12& 3,600
307 S12t01& 30,000 30,000
02 BIHANEX 30,000 30,000
O&3FAl XHE A 29
30,000,000& *14! 30,000
ANEH Ol 20| &4t 25,000 25,000
307 212tol& 25,000 25,000
04 QIZHHALE X 25,000 25,000
ORMI33| Healthy Wonju D8I AELE &= MTBCH
3 25,000,000& *14! 25,000
AEAN AlEED 2 1,200 1,200
201 LetEHH| 1,200 1,200
01 AtR22/Hl 1,200 1,200
O1 L2249 1,200
DAEE W HE 400,000 *3H 2= 1,200
ANEH BHEAE 29 11,000 11,000
201 et 8,000 8,000
01 AtS 22l 8,000 8,000




D= D
DA DE
D RHEI 018 B ALY

SN HH G (EH) - MBAY - BYS Ak ais s
0l &
O1 gEr2FH| 8,000
DotdE ¢ 15,0002 *5007H 7,500
DANMAH XANHAS L=l 5003 =1,0000H 500
301 et24 = 3,000 0 3,000
10 EALAHIZEA S 3,000 0 3,000
OXNZ3ANE 2223 2l 300,000& *103] 3,000
EN OISBAIE X & &I 81,000 0 81,000
401 A EHIL 2048 81,000 0 81,000
01 Al&H| 81,000 0 81,000
OXNBAHNEZ SR E==(600H2)
50,000,000& =14 50,000
OXNEHEZHAX 1,000,000 67 2 6,000
OXEN t&dZetE 300, 000& *507H 15,000
OX&EH wSot™ H X & 200,000& *507H 10,000
N E 102,000 220,700 A 118,700
sSMdE 80,000 49,000 31,000
sMdE 3 80,000 49,000 31,000
202 O4Hl 30,000 30,000 0
04 =2H=t0HI 30,000 20,000 10,000
OYesega 2 Helofl
30,000,000& * 14! 30,000
203 HRF&H| 50,000 19,000 31,000
03 AMEFIHRFAY| 50,000 19,000 31,000
OANMALRFEIH| 50,000, 0002 *14] 50,000
SMME 22,000 0 22,000
SMME A A 22,000 0 22,000
201 Lt 22,000 0 22,000
01 AFR 22l 22,000 0 22,000
O1 get2dd| 10,000
> w XA & 4,000& *2,000H 8,000
PuEd =84 100, 000& x203| 2,000
O3 28=¢ 12,000
DUSHAR 250, 000& x203| 5,000
PEMEEIIAG BALY
70,0003 2521 x4 3] 7,000
HY2IZH (=M8FD) 75,679 0 75,679
ol 2| 33,557 0 33,557
ol 2| 33,557 0 33,557
101 elH| 33,557 0 33,557




SN SMEED
MM HHSAAH|(SMHLEED)
chel: ol | (el a2
K- B3 S (3IH) - NEAY - Ba 2 Aol Soe HRZ2
01 B 33,557 33,557
O A2t 22E 7,457 3 %1521 x300A] 2+ 33,557
=]l 42,122 42,122
JIE2&H| 42,122 42,122
201 B3| 18,932 18,932
01 AtR2teldl 16,752 16,752
O1 getx=2H| 14,400
DENMSI+SHI 1,200,000& x12& 14,400
O5 S| 2,352
Dot Y22 A 7,000 *14021 23| 12& 2,352
02 ss294l 2,180 2,180
O1 22e2= 2 HA 1,680
>REeZ 1,750 #8021 x 12& 1,680
O3 A& ZEbBIS X 500
> S A S Al H] 500, 000& *14] 500
202 044l 16,080 16,080
01 2 16,080 16,080
OJl2g 30| 16,080, 000& 14! 16,080
203 SR =8| 6,300 6,300
01 D22 PR =AH| 3,300 3,300
OJ|A2HLRFXH| 3,300,000& =121 3,300
04 EANSHERE=EH| 3,000 3,000
ORNSIHERFAY| 250,000& x12& 3,000
405 KHAFSHI 810 810
01 MY = EF SHI 810 810
O2tal et 300, 000& =21 600
OHED| 70,000& =34 210
IS (sMH A 600,000 600,000
EHAHXNESDIZFHIUSUSHRMEH HEY) 600,000 600,000
ZONEAMSEEIH HE2 600,000 600,000
701 JIEISIHAE =2 600,000 600,000
01 JIESHNEE2 600,000 600,000
OJIZHSUHSUEHRME HE
600,000, 000& 14! 600,000




